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1. (a) Explainthe ‘Consumer’s Equilibrium’. 7
OR
Explain the characteristics of indifference curves.
(b) Explain the law of variable proportion with the help of diagrams. 7
OR

What is Iso-quant curve ? State the characteristics of the I1so-quant curve.

2. (a) Explain the short run equilibrium of a firm under perfect competition. 7
OR
State the meaning and characteristics of Monopoly.
(b) Give the meaning of Oligopoly and explain its characteristics. 7
OR
Give the meaning of Selling Cost and discuss the effects of selling cost on demand
curve.
3. Write short notes on : (any four) 16
(@ Production Function
(b) Price Effect
(c) Iso-cost Curve
(d) Assumptions of indifference curve
(e) Price Discrimination
(f)  Evils of Monopoly
4.  Give the answer of the following questions in one or two lines : (any six) 12
(1) What is the shape of Indifference Curve ?
(2) What is price line represent about customer ?
(3) What is production function ?
(4) Give the meaning of Break-Even Point.
(5) What is Price Discrimination ?
(6) Explain the equilibrium conditions of a firm.
(7) Give the meaning of Duopoly.
(8) What is price rigidity in Oligopoly ?
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5.  Give the answer of multiple choice questions : 14
(1) The concept of indifference curve analysis formulated by Prof. Hicks is in which

book ?

(@) Principles of Economics (b)  Theory of Value

(c) Value and Capital (d) Price Theory
(2) The slope of indifference curve is

(@) Positive (b) Negative

(c) Parallel to X-axis (d) Parallel to Y-axis
(3) The slope of budget line indicates

(@ Consumer’s income (b) Consumer’s interest

(c) Price ratio (d) Marginal utility

(4) The slope of Iso-Cost line represents
(@) Ratio of prices of two goods (b) Ratio of prices of two inputs

(c) Ratio of cost to output (d) Ratio of revenue to output
(5) At firm’s equilibrium point, Iso-cost curve Iso-quant curve.
(@ cuts (b) intersects
(c) touches (d) parallel to
(6) For which time period, the law of diminishing returns is ?
(@ Short run (b) Longrun
(c) Shortand Long run (d)  Ancient
(7) Which of the following is not a characteristic of perfect competition ?
(@ Selling cost (b) Large Number of sellers/producers
(c) Homogeneous Product (d) Free entry and free exit for firms
(8) In Monopoly, marginal revenue is from average revenue.
(@ more (b) less
(c) equal (d) uncertain
(9) Monopoly between sellers and buyers both side means
(@) Bilateral Monopoly (b) Oligopoly
(c) Perfect Monopoly (d)  Pure Monopoly
(10) If selling cost is effective than demand curve
(@ moves to right. (b) moves to left.
(c) remain steady (d) uncertain

(11) The market in which there is combination of competition and monopoly called
(@ Monopolistic competition  (b)  Perfect competition

(c) Pure competition (d) Duopoly
(12) At the firm’s equilibrium point, under the monopolistic competition
(@ MR=MC (b) MR=AC
(c) MR<MC (d MR>MC
(13) The numbers of firms are a few then the market is
(@) Oligopoly (b)  Perfect competition
(c) Monopoly (d) Pure competition
(14) Production function is considered always with reference to a
(@) Particular period of time (b) Price
(c) Income (d) Cost
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